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Practice #3 ASS#1&2 SCALENE TRIANGLES 
LAW OF SINES 
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1) type      A =     47-15-13   a =     14.92’ 
       B =       b =      
       C =       c =     11.20’ 
 
 
 
 
2) type      A =    47-15-13  a =     11.21’ 
       B =       b =      
       C =       c =     14.92’ 
 
 
 
 
3) type      A =       a =      
       B =       b =     46.33’ 
       C =    29-50-17  c =      67.94’ 
 
 
 
 
4) type      A =       a =      
       B =       b =   345.16’ 
       C =     29-50-17   c =   214.90’ 
 
 
 
 
5) type      A =       a =     93.40’ 
       B =       b =      
       C =     29-50-17   c =     51.19’ 
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